(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater **SEMESTER**: I

PROGRAMME: Bachelor of Commerce

Sr. No.	Roll No.	Seat No.	Name	(Intro	nerce-I duction siness)	& Fir	ıntancy nancial gemen	S	imental of gement	Mathe	ncial ematics - I	1	luction to onment	Ski	ational lls in unting		itional lls in unting	Comn	ness nunicat Skills I	Know	lian /ledge stem	Found C Behav	of	W	ension Fork L&E)	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	ΙA	SEE	IA	SEE	IA	SEE	ΙA	SEE	ΙA	SEE	ΙA	SEE					
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30					
1	24241	FC1525007	/ BHARADWAJ ROSHANI MUNNA PHOOLMATI	\$13	\$12	\$12	\$12	\$15	12	\$20	\$13	\$15	\$12	\$13	\$12	\$11	\$12	\$8	12	\$12	\$13	\$14	\$12	\$13	\$13	281	108	22.0	4.91	Р
2	24050	FC1525011	/ CHALWADI SAKSHI HANMANTHA PARVATI	\$17	\$12	\$15	12	\$15	12	\$17	\$13	\$19	\$12	\$14	\$12	\$12	\$12	\$17	\$12	\$16	\$12	\$18	13	\$11	\$15	308	126	22.0	5.73	В
3	24286	FC1525014	CHAVAN HITESH RAMESH SEEMA	\$13	\$16	\$15	12	\$13	12	\$13	\$12	\$14	\$18	\$15	\$12	\$12	\$12	\$11	\$12	\$12	\$13	\$10	\$13	\$13	\$14	287	110	22.0	5.00	С
4	24215	FC1525015	/ CHAVAN TRUPTI VINOD VINITA	\$12	14	\$13	12	\$13	16	\$12	17	\$14	\$15	\$12	12	\$11	12	\$8	12	\$14	12	\$12	12	\$15	15	285	112	22.0	5.09	С
5	24293	FC1525017	/ CHUNDAWAT MANISHA VIKRAMSINGH KAMLA KAWAR	\$16	\$12	\$14	\$12	\$12	12	\$12	\$12	\$16	12	\$14	\$15	\$12	12	\$11	\$12	\$15	\$12	\$14	12	\$15	\$14	288	110	22.0	5.00	С
6	24151	FC1525020	/ DAS RIMPA DIPAK ASTO	\$14	\$12	\$9	\$12	\$15	15	\$17	20	\$14	\$12	\$12	12	\$11	18	\$16	15	\$15	14	\$14	14	\$13	\$13	307	126	22.0	5.73	В
7	24042	FC1525022	/ DUBEY PAYAL DHARMENDRA PRASAD SANGEETA	\$10	\$15	\$10	03	\$10	\$12	\$9	\$17	\$10	\$19	\$10	\$25	\$10	\$12	\$8	\$12	\$8	\$24	\$10	18	\$11	\$21	284	112	20.0		F
8	24016	FC1525023	/ GAURI KESHAVAN NITYA	\$15	\$12	\$12	\$12	\$13	13	\$14	\$12	\$15	\$12	\$13	\$12	\$12	15	\$11	12	\$15	\$12	\$15	\$12	\$13	\$13	285	106	22.0	4.82	Р
9	24028	FC1525029	/ GUPTA MAHEK JEEUT REKHA	\$13	\$12	\$14	22	\$14	\$12	\$20	\$25	\$15	\$12	\$13	\$13	\$13	\$12	\$15	\$12	\$12	\$12	\$17	\$12	\$15	\$13	318	128	22.0	5.82	В
10	24044	FC1525032	GUPTA SOHAN ALAGU PUSHPA	\$14	\$16	\$18	\$12	\$14	\$12	\$14	\$12	\$14	\$17	\$14	\$16	\$11	\$12	\$12	04	\$14	\$14	\$13	15	\$10	\$14	292	116	20.0		F
11	24029	FC1525037	/ JADHAV SAMIKSHA HARISHCHANDRA HARSHADA	\$13	\$12	\$8	00	\$10	\$12	\$15	\$12	\$15	\$12	\$9	04	\$10	\$12	\$12	\$12	\$15	\$13	\$9	\$13	\$14	\$12	244	84	18.0		F
12	24012	FC1525038	/ JADHAV SRUSHTI ASHOK SWATI	\$16	\$12	\$14	13	\$14	\$12	\$14	\$17	\$14	\$14	\$12	\$15	\$13	\$16	\$11	\$12	\$12	\$12	\$14	\$13	\$15	\$12	297	116	22.0	5.27	С
13	24218	FC1525039	JADHAV VEDANT SUNIL LALITA	\$13	\$16	\$14	12	\$10	\$12	\$18	\$12	\$14	\$12	\$11	\$15	\$11	\$12	\$10	02	\$12	\$12	\$13	AB	\$14	\$15	260	92	18.0		F
14	24254	FC1525041	/ JAISWAL PRITI MANOJ KIRANDEVI	\$12	\$15	\$12	AB	\$10	\$12	\$12	\$12	\$14	\$15	\$13	\$15	\$11	\$12	\$8	\$14	\$12	\$15	\$12	15	\$15	\$17	273	100	20.0		F
15	24153	FC1525043	/ KADAM DIVYA DIPAK RUKMINI	\$13	\$15	\$12	\$12	\$10	\$12	\$18	\$26	\$10	\$15	\$16	13	\$18	14	\$8	\$12	\$8	\$12	\$9	12	\$13	\$14	292	116	22.0	5.27	С
16	24073	FC1525051	/ KUCHHE NANDINI KAILAS GANGA	\$15	\$17	\$14	\$12	\$15	19	\$13	\$12	\$10	\$12	\$11	12	\$12	19	\$13	\$12	\$18	\$12	\$10	\$12	\$11	\$13	294	118	22.0	5.36	С
17	24047	FC1525055	/ MAHADIK SAKSHI MAHESH MANSI	\$12	\$12	\$13	\$14	\$14	\$12	\$17	\$21	\$14	\$13	\$16	\$14	\$14	18	\$12	\$12	\$16	\$12	\$13	\$12	\$11	\$18	310	124	22.0	5.64	В
18	24321	FC1525058	MEDHE GANESH RAMESH CHANDRAKALA	\$08	\$12	\$08	05	\$08	12	\$09	23	\$08	\$17	\$08	\$12	\$09	13	\$08	12	\$10	\$12	\$08	AB	\$08	\$19	229	82	18.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Commerce

			neior or commerce														-	-0-0												
Sr. No.	Rol No	Seat No.	Name	(Intro	nerce-I duction siness)	& Fin			of	Mathe	ncial ematics - I	t	luction to onment	Ski	ntional lls in unting	Ski	ntional lls in unting	Buir Comm ion S	nunicat	Know	ian ledge tem	Found C Behav		W	ension York L&E)	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30					
19	2408	3 FC1525062	/ NALLAWAR BHUMIKA DHANANJAY RUCHITA	\$15	\$12	\$13	12	\$14	\$12	\$12	\$12	\$13	\$19	\$13	\$12	\$12	16	\$11	\$13	\$12	\$12	\$11	\$15	\$15	\$19	295	114	22.0	5.18	С
20	2411	8 FC1525063	/ NIKUMBH PIYUSHA KISHOR UJAWALA	\$10	\$12	\$8	\$12	\$10	\$12	\$9	18	\$10	\$13	\$10	\$12	\$10	\$12	\$8	\$13	08	\$12	\$10	\$12	\$13	\$12	246	92	22.0	4.18	Р
21	2417	4 FC1525064	PAL AMIT OMPRAKASH SUNITA	\$14	\$12	\$14	12	\$16	13	\$19	\$12	\$19	16	\$13	\$12	\$14	14	\$17	12	\$16	13	\$17	12	\$12	\$12	311	128	22.0	5.82	В
22	2424	9 FC1525065	/ PAL KAJAL SURENDRA USHA	\$10	\$16	\$8	AB	\$10	17	\$9	\$12	\$15	\$17	\$10	\$16	\$10	\$17	\$10	\$12	\$8	\$17	\$10	19	\$13	\$18	274	106	20.0		F
23	2407	4 FC1525066	PANCHAL ABHISHEK ARVIND RENUKA	\$13	12	\$9	12	\$13	12	\$13	\$12	\$13	\$12	\$12	13	\$12	16	\$10	\$12	\$13	\$12	\$12	20	\$12	\$12	277	110	22.0	5.00	С
24	2422	0 FC1525075	/ PRAJAPATI SONAM ASHOK ANITA	\$13	23	\$15	24	\$11	19	\$17	23	\$14	16	\$11	20	\$11	24	\$10	18	\$13	21	\$13	16	\$13	23	368	162	22.0	7.36	Α
25	2411	2 FC1525076	PRASAD RAUSHAN RAMASHANKAR BINDADEVI	\$17	\$12	\$16	12	\$15	12	\$18	\$13	\$16	\$13	\$15	\$12	\$14	05	\$16	00	\$15	\$12	\$15	05	\$15	\$12	280	90	16.0		F
26	2413	8 FC1525079	RAM DEEPAK DEVNATH CHANDRAVATI DEVI	\$14	12	\$12	\$12	\$15	14	\$18	\$12	\$14	\$12	\$13	12	\$12	12	\$16	02	\$15	12	\$15	12	\$13	\$12	281	102	20.0		F
27	2423	5 FC1525080	/ RAM MAMTAKUMARI ASHOK PINKI	\$13	\$12	\$14	03	\$13	12	\$19	20	\$10	\$12	\$14	12	\$14	12	\$8	05	\$8	12	\$10	12	\$16	\$12	263	92	18.0		F
28	2410	2 FC1525083	SAHANI SURAJ JAICHAND MEERA	\$13	\$19	\$9	12	\$15	12	\$10	\$13	\$14	\$13	\$13	\$14	\$12	\$12	\$12	\$12	\$15	\$15	\$14	16	\$14	\$20	299	118	22.0	5.36	С
29	2410	3 FC1525084	/ SAH NISHA BAIJNATH MANJUDEVI	\$17	\$12	\$15	\$12	\$15	\$12	\$13	\$23	\$18	\$14	\$14	\$12	\$12	\$12	\$12	\$13	\$18	\$12	\$15	12	\$15	\$12	310	124	22.0	5.64	В
30	2419	9 FC1525087	/ SALVE VARSHA MUKESH ASHWINI	\$14	\$12	\$14	\$12	\$15	12	\$14	00	\$18	\$12	\$11	\$12	\$11	\$12	\$10	12	\$15	\$12	\$14	17	\$11	\$12	272	100	20.0		F
31	2431	2 FC1525089	SAYYED MOHD ASHRAF RAUF FARIDA	\$12	\$12	\$13	AB	\$11	16	\$11	\$12	\$16	AB	\$12	\$15	\$11	\$12	\$8	12	\$13	\$12	\$12	\$12	\$11	\$12	245	78	18.0		F
32	2431	1 FC1525090	SAYYED REHAN MOHD NASEEM MUSKAN	\$14	00	\$11	AB	\$11	13	\$13	12	\$14	\$12	\$13	\$12	\$11	12	\$8	03	\$13	\$12	\$10	\$12	\$12	\$12	230	72	16.0		F
33	2429	4 FC1525093	/ SHAH KAJAL SUBHASH MAMTA	\$16	\$13	\$12	\$12	\$15	18	\$11	\$12	\$16	\$12	\$13	\$12	\$12	13	\$11	12	\$15	\$13	\$14	\$12	\$17	\$15	296	118	22.0	5.36	С
34	2409	8 FC1525095	SHAIKH MOHAMMAD ALZAIB SAMSHUL SHABANA NAAZ	\$13	12	\$14	00	\$14	05	\$12	\$23	\$15	\$12	\$12	12	\$12	12	\$8	\$12	\$13	02	\$13	12	\$14	\$12	254	80	16.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Commerce

SEME	STEF	₹:	I
			$\overline{}$

Sr. No.	Roll No.	Seat No.	Name	(Introd	duction	& Fin	intancy ancial gemen	S	mental of gement	Mathe	ncial matics I		luction o onment	Ski	tional Is in unting	Skil	itional lls in unting		ness nunicat Skills I	Ind Know Sys	ledge	Found o Behav	f	W	nsion ork L&E)	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30					
35	24119	FC1525097	SHAIKH MUBASSHIR MANSOOR DEEBA	\$12	12/30	\$17	12/30	\$17	13	\$18	05	\$16	15	\$17	12/30	\$13	13	\$18	12/30	\$18	15	\$18	15	\$14	18	320	126	20.0		F
36	24236	FC1525098	SHAIKH NADEEM SALIM SAIRA	\$10	19	\$8	12	\$10	12	\$9	15	\$10	\$12	\$10	12	\$10	12	\$8	12	\$8	\$12	\$10	12	\$13	18	254	98	22.0	4.45	Р
37	24114	FC1525100	SHAIKH REHAN PARVEZ HEENA KAUSAR	\$15	AB	\$14	AB	\$12	AB	\$15	AB	\$15	AB	\$12	AB	\$12	AB	\$9	AB	\$12	AB	\$12	AB	\$14	AB	142	0			F
38	24101	FC1525102	SHAIKH SAMEEM SALEEM ZANNATUNNISHA	\$14	\$12	\$14	05	\$15	12	\$12	\$13	\$15	\$12	\$12	\$12	\$12	\$12	\$13	\$12	\$14	14	\$15	12	\$15	\$12	279	98	20.0		F
39	24276	FC1525105	SHINDE BHAVESH GANESH SUNITA	\$10	\$12	\$8	00	\$10	12	\$9	\$12	\$10	\$12	\$10	\$12	\$10	12	\$8	13	\$8	\$12	\$10	\$12	\$12	\$13	227	82	20.0		F
40	24045	FC1525108	SIOTE RITESH SONU HEMA	\$15	\$12	\$17	12	\$14	12	\$13	\$12	\$18	\$12	\$16	\$12	\$12	12	\$8	12	\$13	18	\$14	12	\$12	\$12	290	116	22.0	5.27	С
41	24088	FC1525109	/ SOMANE TRUPTI DIPAK DEVAYANI	\$13	12	\$13	13	\$14	\$12	\$15	\$21	\$17	\$13	\$13	\$12	\$12	\$12	\$16	\$19	\$15	\$12	\$16	\$12	\$14	\$15	311	128	22.0	5.82	В
42	24127	FC1525112	TALARI OMSHI HUSSAINE JAYALAXMI	\$15	\$12	\$14	AB	\$13	AB	\$17	AB	\$16	AB	\$14	AB	\$12	AB	\$8	AB	\$14	AB	\$14	AB	\$14	\$12	175	20	4.0		F
43	24055	FC1525119	/ USKILWAD VAISHNAVI SURYAKANT LAXMIBAI	\$14	13	\$14	12	\$12	12	\$11	15	\$14	\$12	\$14	12	\$11	12	\$8	13	\$13	\$12	\$13	12	\$15	\$12	276	104	22.0	4.73	Р
44	24010	FC1525121	/ VARIK PRANOTI PRAVIN PRANALI	\$14	14	\$14	\$12	\$14	\$12	\$18	\$12	\$13	\$12	\$14	\$13	\$12	\$14	\$10	13	\$13	\$12	\$14	\$12	\$13	\$12	287	114	22.0	5.18	С
45	24046	FC1525123	VINERKAR PRANAY GANESH SAHILI	\$12	\$14	\$15	\$12	\$13	\$12	\$13	\$14	\$14	\$12	\$16	\$12	\$12	00	\$9	\$12	\$13	13	\$13	12	\$11	\$12	266	98	20.0		F
46	24071	FC1525126	YADAV ABHIJIT DANBAHADUR KANCHAN	\$14	\$12	\$14	16	\$15	13	\$12	\$16	\$16	\$12	\$14	12	\$12	12	\$10	12	\$12	\$12	\$10	12	\$10	\$14	282	110	22.0	5.00	С
47	24207	FC1525131	/ YADAV NEHA MHENDRA SUNITA	\$15	15	\$15	02	\$18	12	\$20	12	\$17	15	\$13	18	\$16	14	\$12	12	\$14	21	\$17	12	\$14	15	319	132	20.0		F
48	24274	FC1525143	SAH ANISH KUMAR RAMNATH DEVI INDRASAN	\$19	\$20	\$15	\$22	\$15	21	\$16	\$26	\$17	\$17	\$14	\$19	\$12	\$16	\$16	\$13	\$17	\$21	\$14	\$15	\$8	\$21	374	158	22.0	7.18	А
49	24295	FC1525144	/ KANOJIYA MANSI VINOD URMILA	\$15	12	\$12	12	\$13	05	\$10	12	\$15	\$12	\$13	14	\$11	12	\$11	\$12	\$15	\$12	\$13	\$12	\$13	\$14	270	92	20.0		F
50	24026	FC1525145	/ DHEEGAN MUSKAN RAJU DEEPALI	\$11	\$12	\$14	01	\$10	\$12	\$12	\$12	\$14	\$14	\$13	\$12	\$12	\$12	\$11	12	\$12	\$12	\$15	\$12	\$16	13	264	92	20.0		F
51	24020	FC1525148	SINGH AYUSH SANDEEP MANISHA	\$12	\$13	\$10	\$14	\$16	\$12	\$17	\$13	\$15	\$12	\$13	\$12	\$15	\$12	\$8	12	\$16	\$12	\$14	14	\$16	\$14	292	120	22.0	5.45	С

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER: I

PROGRAMME: Bachelor of Commerce

		Roll No.	Seat No.	Name	(Introd	duction	& Fin	ancial	S	mental of gement	Mathe	matics	t	0	Ski	itional lls in unting	Skil		Comn	ness nunicat Skills I		ledge	Found of Behav	f	W	nsion ork L&E)	Total Marks		Credits Earned		Grade
																							IA			SEE					
L	\perp				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30					
	52 2	24031	FC1525151	/ GOUD KHUSHI VISHAL AMRUTHA	\$15	\$14	\$13	12	\$13	\$12	\$14	12	\$14	\$12	\$14	\$12	\$12	16	\$12	\$12	\$13	\$12	\$15	\$12	\$11	\$12	284	110	22.0	5.00	С
	53 2	24209	FC1525153	GAMRE KRISHNA BABAN SANGEETA	\$10	AB	\$8	AB	\$10	01	\$9	17	\$10	\$12	\$10	\$12	\$10	12	\$8	12	\$8	\$12	\$10	18	\$12	AB	201	62	14.0		F
	54 2	24097	FC1525156	TELGU SAURAV NARSAPPA RAMABAI	\$13	12	\$13	03	\$13	\$12	\$11	13	\$15	\$12	\$12	04	\$10	12	\$8	\$12	\$12	\$12	\$10	12	\$13	\$12	246	80	18.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : I

PROGRAMME: Bachelor of Commerce

Sr. No.	Roll No.	Seat No.	Name	(Intro	duction	& Fir	ıntancy nancial gemen	S	mental of gement	Mathe	incial ematics - I	t	luction to onment	Ski	ational lls in unting	Ski	ntional lls in unting	Comn	ness nunicat Skills I		ian ledge tem	Found C Behav	of	Ser	ional rvice neme	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				ΙA	SEE	ΙA	SEE	ΙA	SEE	ΙA	SEE	IA	SEE	ΙA	SEE	ΙA	SEE	ΙA	SEE	ΙA	SEE	ΙA	SEE	ΙA	SEE					1
				8/20	12/30	8/20	12/30		12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20		i			1	1
55	24146	FC1525001	/ ANSARI NASHRA MOHAMMAD SARFARAZ NAZNEEN	\$10	\$16	\$17	\$12	\$10	\$12	\$9	\$19	\$10	\$13	\$19	\$14	\$18	\$15	\$8	\$20	\$8	05	\$10	\$12	\$15	\$12	284	108	20.0		F
56	24109	FC1525002	/ AWARE GAURI DATTATRAY SUREKHA	\$14	\$12	\$14	04	\$11	13	\$11	\$18	\$13	\$12	\$12	12	\$12	15	\$10	13	\$13	\$12	\$12	\$12	\$14	\$12	271	94	20.0		F
57	24136	FC1525009	CHADDA GAURAV BALKISHAN NIRMALA	\$14	\$15	\$14	\$12	\$15	12	\$17	\$15	\$10	\$14	\$12	\$12	\$11	12	\$8	12	\$13	\$12	\$14	\$12	\$13	\$12	281	108	22.0	4.91	Р
58	24019	FC1525021	/ DHAMANSE POOJA AJIT JAYASHREE	\$16	\$18	\$14	\$15	\$14	\$12	\$15	\$13	\$15	\$14	\$14	\$17	\$14	\$12	\$8	18	\$14	\$22	\$16	\$14	\$13	\$14	322	134	22.0	6.09	B+
59	24297	FC1525030	GUPTA MANISH PAPPU ARTI	\$15	\$12	\$12	\$12	\$11	12	\$15	\$12	\$16	\$18	\$13	\$12	\$10	15	\$10	00	\$15	00	\$12	00	\$13	\$12	247	80	16.0		F
60	24037	FC1525033	GUPTA TILAK CHANDAN PINKY	\$14	\$12	\$14	\$12	\$11	18	\$11	\$21	\$16	\$13	\$13	\$14	\$11	\$12	\$8	\$12	\$13	\$12	\$13	\$12	\$16	\$14	292	118	22.0	5.36	С
61	24048	FC1525040	JAIN VED VINOD VAISHNAVI	\$14	\$13	\$13	\$12	\$14	12	\$15	\$16	\$15	\$12	\$15	\$12	\$13	\$12	\$16	12	\$17	\$14	\$13	\$12	\$13	\$14	299	120	22.0	5.45	С
62	24248	FC1525042	JAISWAL VIVEK RAKESH SANGEETA	\$14	14	\$14	12	\$15	12	\$18	12	\$10	\$12	\$15	12	\$13	20	\$8	04	\$13	12	\$14	12	\$15	\$12	283	108	20.0		F
63	24108	FC1525044	/ KADAM ISHA BABASAHEB SUSHMA	\$14	\$16	\$14	\$12	\$15	16	\$14	12	\$15	\$13	\$12	\$13	\$11	20	\$9	00	\$8	\$13	\$15	17	\$13	\$12	284	116	20.0		F
64	24132	FC1525048	KANOUJIYA ASHISH VEDPRAKASH KUSUM	\$10	\$12	\$8	00	\$10	12	\$9	18	\$10	\$14	\$10	12	\$10	\$12	\$8	\$12	\$8	\$12	\$10	17	\$12	\$15	241	86	20.0		F
65	24298	FC1525052	/ LABANA JASPREETKOUR VINAYSINGH GEETAKAUR	\$16	12	\$12	00	\$15	\$12	\$16	\$12	\$16	\$12	\$14	\$12	\$13	\$12	\$15	\$12	\$14	17	\$14	\$12	\$13	12	283	110	20.0		F
66	24176	FC1525053	LABANA RAJVEER SINGH GURMEET SINGH MALA KAUR	\$14	\$12	\$14	12	\$14	13	\$18	\$13	\$15	\$12	\$10	12	\$10	12	\$11	\$12	08	12	\$10	16	\$13	\$12	275	106	22.0	4.82	Р
67	24168	FC1525059	/ MORE ARPITA RAJARAM SHARDA	\$12	\$12	\$14	\$14	\$13	\$12	\$16	\$15	\$15	\$21	\$14	\$12	\$11	18	\$11	\$14	\$13	14	\$13	\$14	\$20	\$19	317	128	22.0	5.82	В
68	24145	FC1525060	MORE SANIK RAJESH SIDDHI	\$10	\$19	\$13	\$18	\$15	\$12	\$9	\$25	\$10	\$16	\$12	\$12	\$10	\$14	\$8	\$14	\$13	14	\$12	\$12	\$13	\$15	296	114	22.0	5.18	С
69	24052	FC1525071	/ PAWAR BABLI ANIL SANGEETA	\$14	\$13	\$14	\$14	\$14	15	\$12	\$14	\$13	\$15	\$12	\$13	\$11	\$12	\$8	\$14	\$13	\$14	\$13	\$12	\$11	\$12	283	110	22.0	5.00	С
70	24291	FC1525072	PAWAR RAHUL SANTOSH DURGA	\$13	\$14	\$12	\$12	\$15	\$12	\$16	24	\$15	\$16	\$10	\$12	\$10	\$12	\$8	13	\$13	\$12	\$13	12	\$15	\$12	291	114	22.0	5.18	С
71	24068	FC1525073	/ PINJARI MEHVISH SALIM SALMA	\$14	\$13	\$14	\$16	\$14	16	\$15	\$12	\$16	\$12	\$13	\$12	\$10	13	\$8	18	\$12	\$12	\$10	14	\$13	\$14	291	114	22.0	5.18	С

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : I

PROGRAMME: Bachelor of Commerce

	00107	Duci	icioi oi commerce												7110	. 177	iu _j	2023												
Sr. No.	Roll No.	Seat No.	Name	(Intro	duction	& Fin	ıntancy ıancial gemen	S	mental of gement	Mathe	ncial ematics - I		luction to onment	Ski	ntional lls in unting		itional lls in unting	Comn	ness nunicat Skills I		ian ledge tem	Found C Behav	of	Ser	ional vice ieme	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30					
72	24017	FC1525074	PRACHARI ASHISH MANOJ KAVITA	\$16	\$16	\$15	\$12	\$10	02	\$18	\$12	\$13	13	\$17	\$16	\$16	12	\$14	12	\$18	\$12	\$10	\$12	\$11	\$17	294	118	20.0		F
73	24135	FC1525078	RAJE NITESH MANGESH POONAM	\$14	\$13	\$13	\$12	\$14	\$12	\$20	\$12	\$14	\$16	\$12	\$12	\$11	\$13	\$10	15	\$13	\$12	\$13	\$12	\$13	\$14	290	114	22.0	5.18	С
74	24314	FC1525081	RAM NILESH ASHOK REENADEVI	\$17	\$12	\$15	12	\$15	\$12	\$14	\$12	\$16	\$17	\$15	\$21	\$13	\$13	\$12	\$12	\$17	\$17	\$15	\$12	\$14	\$16	319	128	22.0	5.82	В
75	24107	FC1525085	/ SAINI KALPANA ROHIT MANJU	\$16	\$12	\$15	\$12	\$16	\$12	\$13	\$13	\$15	\$12	\$14	\$12	\$11	22	\$10	12	\$15	\$12	\$14	20	\$11	\$12	301	118	22.0	5.36	С
76	24188	FC1525088	SATPUTE GANESH TANAJI VAISHALI	\$15	\$12	\$13	15	\$10	\$12	\$16	\$14	\$10	\$12	\$19	13	\$19	12	\$8	\$12	\$8	\$12	\$10	\$15	\$20	\$14	291	120	22.0	5.45	С
77	24175	FC1525092	/ SERIA PRAJAKTA DEEPAK VARSHA	\$16	\$12	\$10	12	\$12	14	\$14	\$12	\$16	\$15	\$12	\$13	\$11	\$12	\$8	\$12	\$13	\$12	\$12	\$12	\$14	\$14	278	110	22.0	5.00	С
78	24252	FC1525103	SHARMA SANTOSH DINESH MAMTA	\$10	\$18	\$8	05	\$10	12	\$9	\$12	\$16	\$14	\$10	\$12	\$10	\$12	\$12	\$12	\$15	\$15	\$14	\$12	\$14	\$14	266	102	20.0		F
79	24087	FC1525104	/ SHIGWAN HARSHADA SADANAND SUCHITA	\$15	12	\$14	\$14	\$14	13	\$14	\$13	\$16	\$12	\$12	\$12	\$12	\$12	\$12	\$12	\$15	\$12	\$13	12	\$13	\$12	286	108	22.0	4.91	Р
80	24007	FC1525107	SHIRSHAT ABAY BABU VARSHA	\$13	\$16	\$14	12	\$13	\$12	\$12	\$12	\$16	\$12	\$12	\$16	\$12	\$12	\$8	20	\$15	\$23	\$13	\$12	\$20	\$12	307	124	22.0	5.64	В
81	24226	FC1525110	SONAWANE ADITYA SANTOSH SONY	\$10	\$12	\$8	\$12	\$10	14	\$9	\$15	\$10	\$12	\$10	\$13	\$10	\$14	\$8	\$12	\$8	\$13	\$10	\$12	\$13	\$14	249	90	22.0	4.09	Р
82	24099	FC1525113	/ TALEKAR MANSI DINESH SUREKHA	\$14	\$12	\$13	\$12	\$12	15	\$12	\$30	\$14	\$12	\$12	15	\$12	\$12	\$17	\$12	\$13	\$12	\$15	\$12	\$13	\$15	306	120	22.0	5.45	С
83	24183	FC1525115	THONDAMAN SHAKTIVEL MUTHUKUMAR LAXMI	\$12	\$12	\$11	AB	\$12	\$12	\$13	\$15	\$16	\$16	\$13	\$12	\$10	\$12	\$9	AB	\$13	\$13	\$13	\$12	\$13	\$12	251	90	18.0		F
84	24036	FC1525116	THOSAR SAMANYU SANJEEV VARSHA	\$14	\$12	\$13	\$12	\$13	12	\$14	\$20	\$14	\$12	\$13	\$12	\$12	06	\$9	12	\$13	\$12	\$13	14	\$20	\$13	285	106	20.0		F
85	24155	FC1525117	THUBE OM YASHWANT RANJANA	\$14	\$12	\$12	AB	\$13	\$12	\$13	\$14	\$14	\$12	\$11	03	\$11	\$12	\$9	\$12	\$10	\$15	\$12	\$12	\$12	\$13	248	84	18.0		F
86	24120	FC1525124	/ WAGHMARE ANJALI DILIP PANCHASHILA	\$15	12	\$16	12	\$14	12	\$13	13	\$13	13	\$15	12	\$11	05	\$12	12	\$15	17	\$14	12	\$14	13	285	104	20.0		F
87	24060	FC1525127	YADAV AMIT RAMAVADH SANGEETA	\$13	01	\$14	01	\$10	19	\$13	00	\$10	12	\$16	15	\$16	12	08	13	\$15	14	\$9	00	\$13	16	240	78	14.0		F
88	24133	FC1525128	YADAV ANKIT VISHRAM BIGANIDEVI	\$14	\$13	\$13	17	\$14	12	\$20	\$14	\$17	19	\$15	\$13	\$11	\$12	\$8	\$12	\$13	\$12	\$13	12	\$13	\$12	299	122	22.0	5.55	В

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER: I

PROGRAMME: Bachelor of Commerce

Sr. No.	Roll No.	Seat No.	Name	(Introd	duction	& Fir	nancial	S	nmental of gement	Mathe	ancial ematics - I	t t	duction to onment	Ski	itional lls in unting	Ski	itional lls in unting	Comr	ness nunicat Skills I		ledge	Found o Behav	f	Ser	ional vice ieme	Total Marks	Sum CG	Credits Earned		Grade
					SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30					
89	24156	FC1525132	YADAV RISHI RAJESH PRAMILA	\$17	\$12	\$17	12	\$16	12	\$16	\$13	\$18	\$12	\$15	12	\$13	13	\$13	02	\$14	12	\$15	12	\$15	\$12	293	112	20.0		F
90	24154	FC1525133	YADAV SANDEEP KUMAR HANSRAJ SUGHARA	\$14	12	\$13	12	\$10	05	\$15	12	\$10	\$22	\$16	\$12	\$16	12	08	00	\$8	\$12	\$9	12	\$14	\$12	256	94	18.0		F
91	24259	FC1525136	YADAV TARUN PRADEEP SINDHORA	\$14	\$12	\$12	00	\$15	12	\$14	12	\$13	\$14	\$12	\$12	\$11	15	\$10	13	\$14	\$12	\$13	14	\$15	\$12	271	96	20.0		F
92	24305	FC1525137	ZAREKAR MAYURESH ANIL SUNITA	\$18	\$12	\$14	\$16	\$10	14	\$15	\$12	\$10	\$14	\$16	\$12	\$17	14	\$15	\$13	\$18	\$15	\$10	18	\$14	\$12	309	128	22.0	5.82	В
93	24128	FC1525149	SONAWANE NITIN BHARAT MANISHA	\$14	\$14	\$15	\$12	\$14	15	\$13	12	\$15	\$12	\$15	13	\$12	14	\$16	\$12	\$14	\$12	\$14	16	\$15	\$12	301	122	22.0	5.55	В
94	24081	FC1525152	/ PATIL DHANASHREE MANOJ LAXMI	\$14	\$12	\$14	01	\$13	13	\$13	12	\$15	\$12	\$13	05	\$12	13	\$15	\$12	\$13	\$12	\$13	12	\$20	\$15	274	96	18.0		F
95	24290	FC1525155	/ ENGAWALE PALLAVI VINAYAK SARIKA	\$15	12	\$13	\$12	\$16	13	\$14	\$15	\$14	16	\$13	05	\$11	04	\$9	12	\$13	04	\$13	12	\$15	\$12	263	86	16.0		F
96	24310	FC1525158	KHAN SAIF IRFAN RUBI	\$15	12	\$10	00	\$11	AB	\$13	\$12	\$15	\$12	\$13	\$12	\$11	12	\$8	12	\$13	\$12	\$13	\$12	\$14	\$12	244	86	18.0		F
97	24318	FC1525159	KHAN JAFFER RIJWAN RUBINA	\$14	\$12	\$10	03	\$11	AB	\$12	12	\$15	AB	\$12	\$12	\$11	05	\$11	\$12	\$12	\$12	\$12	12	\$13	\$12	225	60	14.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

PR	OGRA	MME : Bach	nelor of Commerce								,		EXA	MINA	ATIO	N:M	lay - 2	2025									SE	MEST	ER: I	[
Sr. No.	Roll No.	Seat No.	Name	(Introd	nerce-I duction siness)	& Fin	ancial		imental of gement	Mathe	ancial ematics - I	t	duction to onment	Skil	tional Is in unting	Ski	itional lls in unting	Bui Comn ion S	ness nunicat Skills I	Ind Know Sys	ian ledge tem		dation of vioural	Introd to S	duction ports	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	_	SEE 12/30					
98	24106	FC1525004	BANGAL SAHIL AMUL SONIYA	\$15	\$22	\$14	00	\$15	\$12	\$13	\$17	\$15	\$15	\$11	\$12	\$11	12	\$10	16	\$17	\$12	\$13	22	\$19	\$16	309	124	20.0		F
99	24195	FC1525006	BHANGARE GANESH PANDURANG SUNITA	\$14	\$14	\$10	\$22	\$15	\$12	\$15	\$14	\$17	\$14	\$15	\$17	\$12	\$14	\$16	16	\$14	\$19	\$13	\$12	\$8	\$13	316	132	22.0	6.00	B+
100	24129	FC1525008	/ BHOSALE TANISHA VITTHAL CHITRA	\$14	12	\$14	12	\$11	\$12	\$17	15	\$14	12	\$13	12	\$11	15	\$9	\$12	\$14	04	\$13	02	\$8	AB	246	80	16.0		F
101	24023	FC1525010	CHALKE SAGAR ANIL ROHINI	\$17	\$12	\$12	12	\$13	\$12	\$14	\$15	\$14	\$12	\$13	\$14	\$12	\$12	\$10	\$12	\$16	\$12	\$12	\$12	\$8	\$12	278	106	22.0	4.82	Р
102	24306	FC1525012	CHAUHAN AMAN DHIRAJ MANJU	\$15	\$12	\$14	\$12	\$14	13	\$18	\$14	\$14	\$12	\$14	\$12	\$12	12	\$12	\$12	\$14	\$15	\$13	12	\$18	\$12	296	116	22.0	5.27	С
103	24233	FC1525013	CHAUHAN NIKHIL SUNILKUMAR LALITA	\$10	\$19	\$8	\$12	\$10	12	\$9	\$13	\$10	17	\$10	\$12	\$10	\$12	\$8	\$17	\$8	\$18	\$10	\$12	\$8	\$13	258	98	22.0	4.45	Р
104	24164	FC1525016	CHORAGE RUSHIKESH SHIVAJI SHUBHANGI	\$18	13	\$15	\$17	\$18	18	\$18	\$18	\$18	\$12	\$15	16	\$14	\$12	\$17	18	\$14	\$16	\$15	20	\$8	\$15	345	152	22.0	6.91	B+
105	24115	FC1525018	/ DAGADE HARSHADA SANDEEP VAISHALI	\$10	23	\$8	\$14	\$10	\$12	\$9	\$24	\$10	\$12	\$10	\$12	\$10	26	\$8	\$12	\$8	\$12	\$10	22	08	23	293	120	22.0	5.45	С
106	24279	FC1525019	DARUTE AVISH RAJU SHILPA	\$13	\$12	\$12	\$14	\$12	\$12	\$13	\$16	\$16	\$12	\$12	\$12	\$12	\$12	\$11	\$14	\$15	\$12	\$13	14	\$18	\$12	289	112	22.0	5.09	С
107	24005	FC1525025	GHORPADE KRISHNA KISAN KANCHAN	\$15	\$12	\$10	00	\$14	12	\$12	\$12	\$15	\$12	\$14	\$12	\$13	13	\$11	\$12	\$14	\$12	\$9	\$12	\$20	\$12	268	98	20.0		F
108	24171	FC1525026	/ GOLE SNEHA SANTOSH SHARDA	\$10	\$12	\$8	\$15	\$10	14	\$9	\$12	\$10	\$17	\$10	\$12	\$10	\$12	\$8	\$12	\$8	\$12	\$10	\$12	\$8	\$13	244	90	22.0	4.09	Р
109	24284	FC1525027	GUPTA ANKIT BABLU BINDU	\$15	AB	\$8	AB	\$10	\$12	\$11	AB	\$10	\$12	\$10	\$12	\$10	AB	08	AB	\$13	AB	\$13	AB	\$18	AB	162	24	6.0		F
110	24072	FC1525028	GUPTA ASHITOSH RAMSAKAL GUDDI	\$15	14	\$14	12	\$13	13	\$12	\$17	\$15	\$15	\$14	\$12	\$11	15	\$11	\$12	\$12	\$12	\$13	12	\$8	\$12	284	112	22.0	5.09	С
111	24100	FC1525031	GUPTA NARAYAN RAJESH SADHANA	\$18	\$12	\$14	\$12	\$19	\$12	\$18	\$25	\$15	\$15	\$17	\$23	\$13	\$12	\$17	\$12	\$19	\$18	\$16	12	\$18	12	349	152	22.0	6.91	B+
112	24258	FC1525034	HAMIDANI TAHA MOHD SOHAIL ZULEKHA	\$9	18	\$8	12	\$10	AB	\$9	AB	\$10	AB	\$8	AB	\$10	AB	\$8	AB	\$8	12	\$9	04	\$18	\$12	165	40	8.0		F
113	24166	FC1525035	HIRVE DHANAJI KRUSHNA VENUBAI	\$19	\$21	\$16	12	\$18	15	\$20	\$14	\$18	\$12	\$18	\$12	\$16	15	\$17	00	\$19	\$12	\$19	\$12	\$8	\$12	325	136	20.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater **SEMESTER**: I

PROGRAMME: Bachelor of Commerce

Printed on date - 12/06/2025

	UGRA	ANIME: Baci	nelor of Commerce										EXA	MINIM	AHO	N : IVI	lay - 1	2025									3E	INIE2 I	ER. 1	L
Sr. No.	Roll No.	Seat No.	Name	(Intro	duction	& Fir	nancial	Funda S Manaç	of	Mathe	incial ematics - I	t	luction o onment	Ski	ntional lls in unting		tional Is in unting	Buir Comm ion S			ian ledge tem		dation of vioural		duction ports	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30					
114	24006	FC1525036	INGLE KETAN GOPAL ANJU	\$14	\$12	\$14	\$12	\$14	\$13	\$13	\$12	\$13	\$12	\$13	\$12	\$13	12	\$11	\$12	\$14	\$12	\$13	\$12	\$19	\$12	284	112	22.0	5.09	С
115	24067	FC1525045	KAMBLE OMKAR PRATAP SUNITA	\$13	14	\$12	00	\$14	14	\$13	\$26	\$14	\$16	\$12	04	\$11	13	\$9	\$12	\$12	\$12	\$13	AB	\$19	\$12	265	90	16.0		F
116	24212	FC1525046	/ KAMBLE SONUBAI DEVIDAS JYOTSANA	\$19	\$19	\$17	\$12	\$16	\$14	\$18	\$14	\$17	\$20	\$14	\$16	\$15	\$18	\$17	\$17	\$15	\$18	\$17	22	\$8	\$16	359	152	22.0	6.91	B+
117	24131	FC1525047	KANOJIYA VISHAL SINODH ANITADEVI	\$12	\$13	\$12	02	\$11	12	\$15	\$15	\$14	\$12	\$11	\$12	\$10	\$12	\$8	02	\$12	\$19	\$13	20	\$8	\$12	257	94	18.0		F
118	24105	FC1525049	KAROTIYA VARUN NARESH NEETU	\$18	\$12	\$16	00	\$15	\$12	\$13	\$15	\$15	\$19	\$11	\$12	\$12	12	\$13	03	\$17	\$12	\$13	16	\$19	\$12	287	104	18.0		F
119	24303	FC1525050	KHA SHUBHAM SHRIKANT SUPRIYA	\$15	\$12	\$13	04	\$15	12	\$11	23	\$18	\$13	\$14	\$13	\$13	\$12	\$12	\$12	\$16	\$16	\$16	20	08	\$17	305	116	20.0		F
120	24116	FC1525054	/ LOKHANDE SUHANA SUNIL MANJU	\$10	\$12	\$8	00	\$10	13	\$9	\$16	\$10	\$15	\$10	\$12	\$10	16	\$8	\$12	\$8	\$18	\$10	18	\$8	\$13	246	92	20.0		F
121	24069	FC1525056	MALLAH ADITYA SHIVANAND MEERA	\$13	\$12	\$12	03	\$14	16	\$11	\$25	\$14	\$20	\$12	\$12	\$18	\$12	\$11	\$17	\$12	\$12	\$14	12	\$8	\$12	292	114	20.0		F
122	24163	FC1525057	MASKAR PRAVIN VASANT SUVARNA	\$15	\$12	\$14	\$17	\$13	18	\$15	\$24	\$14	\$12	\$13	14	\$11	\$14	\$12	12	\$14	\$16	\$14	\$12	\$8	\$12	306	124	22.0	5.64	В
123	24273	FC1525067	/ PARSEDIYA HEEMANI RAVI REKHA	\$10	\$16	\$8	16	\$10	\$12	\$9	\$17	\$16	\$22	\$10	\$16	\$10	\$15	\$11	\$12	\$8	\$15	\$10	\$13	\$8	\$12	276	104	22.0	4.73	Р
124	24123	FC1525068	/ PATHAK SWATI KAMLESH ANJU	\$10	\$12	\$8	\$12	\$10	16	\$9	\$14	\$10	\$18	\$10	\$12	\$10	15	\$8	\$12	\$8	\$16	\$10	15	\$18	\$14	267	104	22.0	4.73	Р
125	24239	FC1525069	/ PATIL SEJAL SUNIL ALKA	\$10	\$14	\$8	\$12	\$10	17	\$9	\$20	\$10	\$12	\$10	12	\$10	\$12	\$8	\$12	\$8	\$12	\$10	13	\$18	\$12	259	100	22.0	4.55	Р
126	24267	FC1525070	PATIL SHUBHAM RAVINDRA MANISHA	\$10	12	\$8	\$17	\$10	15	\$9	16	\$15	\$12	\$10	12	\$10	14	\$10	12	\$8	\$17	\$9	15	\$8	\$17	266	100	22.0	4.55	Р
127	24162	FC1525077	RAEEN MO AADIL MO SALIM JUBEDAKHATUN	\$14	12	\$11	12	\$16	16	\$19	12	\$16	16	\$13	12	\$13	16	\$12	05	\$13	12	\$14	12	08	12	286	110	20.0		F
128	24165	FC1525082	RANJANE MAHESH RAMDAS ARCHANA	\$19	\$14	\$16	\$17	\$15	17	\$18	\$13	\$18	\$12	\$15	\$12	\$12	\$12	\$17	12	\$16	\$21	\$15	14	\$8	\$14	327	136	22.0	6.18	В+
129	24170	FC1525086	/ SALTE TANVI SANJAY SWATI	\$14	\$14	\$14	\$12	\$12	12	\$11	\$12	\$14	\$12	\$13	\$12	\$10	06	\$8	12	\$14	12	\$10	18	\$8	\$12	262	96	20.0		F
130	24013	FC1525091	/ SERIA DASAA DEEPAK VARSHA	\$13	\$12	\$15	\$12	\$12	02	\$13	\$12	\$14	\$12	\$13	\$14	\$12	00	\$11	02	\$13	\$12	\$14	20	\$8	\$12	248	82	16.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME	Bachelor of Com	merce
-----------	-----------------	-------

Sr. No.	Roll No.	Seat No.	Name	(Intro	duction	& Fir	nancial	S	amental of gement	Mathe	ancial ematics - I	1	luction to onment	Skil	tional Is in unting	Ski	ational lls in unting		ness nunicat Skills I	Ind Know Sys	ledge	Found C Behav	of	Introd to S	uction ports	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30					
131	24053	FC1525094	SHAIKH DANISH NASIM ISRAT	\$14	\$12	\$12	\$12	\$12	12	\$13	12	\$18	12	\$13	05	\$11	02	\$11	03	\$14	00	\$15	\$14	\$19	12	248	76	14.0		F
132	24224	FC1525096	SHAIKH MOHAMMED REHAN YAAR MOHAMMED ROSHAN JAHA	\$10	14	\$8	00	\$10	12	\$9	\$17	\$10	\$12	\$10	\$12	\$10	\$12	\$8	\$12	\$8	AB	\$10	13	\$8	\$12	217	74	18.0		F
133	24043	FC1525099	/ SHAIKH RASHIDA RIZWAN JOHRA	\$16	\$12	\$17	\$12	\$14	12	\$15	\$13	\$19	\$12	\$15	\$12	\$12	12	\$13	\$12	\$16	\$12	\$15	14	\$8	\$16	299	120	22.0	5.45	С
134	24301	FC1525101	SHAIKH RIYAN RASHID ASHABEE	\$16	\$12	\$13	\$12	\$14	05	\$13	\$12	\$14	\$12	\$15	\$12	\$11	12	\$10	12	\$15	\$12	\$14	12	\$18	\$14	280	102	20.0		F
135	24094	FC1525106	/ SHINDE VAISHNAVI VITTHAL ASHA	\$13	\$18	\$13	\$17	\$12	\$12	\$15	\$25	\$16	\$14	\$12	\$12	\$12	\$12	\$12	17	\$8	\$13	\$10	\$15	\$8	\$13	299	122	22.0	5.55	В
136	24063	FC1525118	UDAGE OMKAR RAMESHWAR ANURADHA	\$16	\$13	\$14	\$25	\$15	\$12	\$19	\$21	\$15	\$15	\$13	\$12	\$14	13	\$13	\$12	\$14	\$14	\$12	12	\$18	\$13	325	134	22.0	6.09	B+
137	24281	FC1525122	VINAY RANGILAL LALMATI	\$17	\$20	\$14	01	\$13	17	\$12	12	\$16	\$12	\$13	\$12	\$12	\$13	\$12	\$12	\$16	\$14	\$11	\$15	\$18	\$12	294	116	20.0		F
138	24008	FC1525125	WAGHMARE PRANIT GANESH ARCHANA	\$13	\$15	\$14	12	\$13	12	\$12	\$12	\$15	\$16	\$13	\$15	\$12	\$12	\$8	12	\$16	\$14	\$14	\$16	\$18	\$14	298	124	22.0	5.64	В
139	24082	FC1525129	YADAV ARNAV SATYAWAN SAMTA	\$14	01	\$10	03	\$11	12	\$13	\$12	\$13	\$12	\$12	12	\$12	03	\$10	\$12	\$10	05	\$12	04	\$8	\$12	213	52	12.0		F
140	24300	FC1525130	YADAV CHANDRASHEKHAR RAMDHANI ANURADHA	\$14	15	\$12	00	\$12	15	\$13	\$15	\$14	12	\$13	12	\$11	13	\$8	00	\$13	00	\$13	12	\$8	\$12	237	80	16.0		F
141	24266	FC1525135	YADAV SHIVAM AMARJEET ANITA DEVI	\$10	\$16	\$8	\$12	\$10	\$12	\$9	14	\$15	16	\$10	\$12	\$10	\$13	\$12	\$12	\$13	\$14	\$13	\$14	\$10	\$18	273	104	22.0	4.73	Р
142	24093	FC1525138	ZATE VAIBHAV RAVINDRA RAVINA	\$14	\$19	\$9	\$24	\$12	\$12	\$15	\$12	\$14	\$16	\$13	\$12	\$12	\$12	\$9	\$12	\$13	\$14	\$13	16	\$18	\$12	303	122	22.0	5.55	В
143	24243	FC1525139	RAM ROHITKUMAR SAROJKUMAR USHA	\$14	15	\$13	00	\$14	14	\$18	\$23	\$14	\$12	\$12	\$15	\$12	\$12	\$10	\$12	\$14	\$12	\$12	14	\$18	\$12	292	112	20.0		F
144	24219	FC1525140	YADAV ANKIT RAJESH MIRADEVI	\$13	\$12	\$14	\$12	\$13	15	\$15	15	\$14	\$12	\$11	\$15	\$11	\$12	\$10	12	\$12	16	\$12	12	\$18	\$12	288	116	22.0	5.27	С
145	24234	FC1525141	UPADHYAY GANESH SHANKAR BISHNA	\$14	\$14	\$15	02	\$15	12	\$20	\$14	\$10	20	\$14	\$12	\$11	\$13	\$8	12	\$8	\$15	\$10	\$14	\$8	\$12	273	100	20.0		F
146	24268	FC1525142	SINGH HARIOM DINESH BABITA	\$10	\$19	\$8	\$12	\$10	\$15	\$9	12	\$10	16	\$10	\$12	\$10	\$17	\$10	\$12	\$14	\$16	\$12	\$16	\$8	\$20	278	112	22.0	5.09	С
147	24059	FC1525146	CHAVAN SHUBHAM SAHEBRAO SATYABHAMA	\$16	\$12	\$12	\$24	\$10	\$12	\$16	\$16	\$10	\$12	\$15	\$15	\$16	14	\$14	\$13	\$16	\$12	\$9	\$12	\$8	\$12	296	124	22.0	5.64	В

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

A.T.K.T. Exam.)

EXAMINATION: May - 2025

SEMESTER: I

PROGRAMME: Bachelor of Commerce

		Roll No.	Seat No.	Name	(Introduction		& Financial		y Fundamental s of Management		Mathematics				Skills in		Skills in		Communicat		t Knowledge				Introduction to Sports		Total Marks	Sum CG	Credits Earned		Grade
					IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE				1	
L					8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30					
_1	48 2	24272	FC1525147	/ SINGH SNEHA KRISHNA SHOBHA	\$15	\$12	\$15	\$12	\$15	14	\$16	\$18	\$17	\$13	\$13	\$16	\$12	\$12	\$16	\$14	\$16	\$24	\$15	15	\$8	\$16	324	134	22.0	6.09	B+
1	49 2	24152	FC1525150	SINGH ROHIT VICKY SARASWATI	\$9	12	\$8	12	\$10	15	\$9	\$12	\$10	\$15	\$9	13	\$10	00	\$8	\$12	08	14	\$9	12	\$8	\$12	227	84	20.0		F
1	50 2	24203	FC1525154	KATARE PRANAV TUSHAR PINKY	\$14	\$12	\$13	02	\$13	12	\$14	\$18	\$14	\$12	\$13	\$13	\$12	\$12	\$13	\$12	\$14	\$12	\$12	\$12	\$8	\$13	270	98	20.0		F
1	51 2	24255	FC1525157	CHAUHAN AVINASH RAMBCHCHAN KUSUM	\$14	\$12	\$14	\$12	\$15	12	\$13	\$12	\$14	\$17	\$14	\$12	\$12	\$12	\$12	\$12	\$14	\$19	\$14	19	\$18	\$18	311	124	22.0	5.64	В

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER: I

PROGRAMME: Bachelor of Commerce

Sr. No.	Roll No.	Seat No.	Name	(Introd	duction	& Fir	nancial	Funda S Manaq	of	Mathe	incial ematics - I	t	luction o onment	Ski	itional lls in unting	Ski	itional lls in unting	Comn	ness nunicat Skills I		ledge	Found O Behav	f	to Cı	luction ultural vities	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				-	SEE		SEE		SEE				SEE		SEE		SEE		SEE 12/30		SEE		SEE		SEE					
<u> </u>				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30				<u> </u>	\square
152	24182	FC1525003	/ BANGAL ANISHA AMOL SONI	\$10	\$15	\$8	12	\$10	12	\$9	\$15	\$10	\$12	\$10	\$12	\$10	\$13	\$8	15	\$8	\$12	\$10	\$12	\$14	\$20	257	96	22.0	4.36	Р
153	24201	FC1525005	/ BANSODE REKHA RAJESH KALPANA	\$13	\$14	\$11	\$12	\$12	\$12	\$14	\$23	\$10	\$12	\$12	12	\$12	\$12	\$11	\$13	\$17	12	\$10	\$12	\$16	\$12	284	106	22.0	4.82	Р
154	24034	FC1525024	/ GAWAS SAKSHI SANJAY SANJANA	\$14	\$12	\$13	02	\$10	\$12	\$14	\$13	\$15	\$12	\$10	\$15	\$18	\$12	\$17	\$12	\$16	\$18	\$8	\$13	\$15	\$14	285	108	20.0		F
155	24015	FC1525061	/ MUDLAPUR ESHA SADANAND MEENAKSHI	\$15	\$12	\$13	\$12	\$13	\$12	\$15	\$12	\$16	\$12	\$12	12	\$12	\$12	\$17	\$15	\$14	\$12	\$13	\$12	\$16	\$12	291	114	22.0	5.18	С
156	24014	FC1525111	/ SONAWANE PRACHI SAMADHAN MINAL	\$13	\$12	\$11	12	\$13	12	\$12	12	\$16	\$12	\$12	12	\$12	\$12	\$9	04	\$15	\$12	\$11	\$12	\$14	12	262	92	20.0		F
157	24177	FC1525114	/ THAKUR RAJNI SATISH AARTI	\$14	22	\$15	12	\$12	12	\$13	\$12	\$14	\$12	\$14	15	\$13	12	\$13	\$12	\$14	12	\$13	05	\$14	21	296	112	20.0		F
158	24080	FC1525120	/ VALMIKI ROSHNI SANJAY SEEMA	\$14	16	\$15	\$12	\$12	15	\$13	\$12	\$14	\$12	\$12	12	\$12	00	\$11	12	\$12	\$12	\$11	12	\$15	\$13	269	98	20.0		F
159	24181	FC1525134	YADAV SANDEEP KUMAR RAMSAGAR SANGEETA	\$10	12	\$8	04	\$10	12	\$9	\$12	\$10	\$12	\$10	\$12	\$10	\$12	\$8	12	\$8	\$12	\$10	15	\$16	\$12	236	86	20.0		F